logarithmic U, Us-data  logUg = —0,35}u,~Uss7]

Ua=(Lo"Mo)*® logL o= ~0,350;~u:.]2

log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9

log [ Ug, Lo, Mo, Ug ] Adaptation: A =557
557570

Threshold
S+=0,0

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (

TF350-7A



logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
Ua=(Lo"Mo)*® logL o= ~0,35L;, -2
log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9
log [Lo/Uo, Mo/Ug, U4Uy ] Adaptation: A =557

1t 557570 Threshold
S+=0,0

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




, Ug-data  logU, = —0,35[,—Uss57]

e logVo = —0,350,-u 13
+log )2log = -0,35[,~Us.?
,Uo] Adaptation: Ay =

Threshold
S=0,0

+-31 -1,1 0,0 0,9
C 500 555600




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
=(Mgr )08 logMo=~0,35[,-u |3
=(logMo+log )2log = -0,350,~Us:]?2

/Ug, ©/Uy] Adaptation: A, =

Threshold
S+=0,0

+-31 -1,1 0,0 0,9




logarithmic ~, Uo-data  logUo = -0,35,~Uss7]
e 65 log =-0,350,-u..J2
=(log +logC.)/2 logC,=-0,35L,-u ]2
Uo] Adaptation: A =

Threshold
S=0,0

+-31 -1,1 0,0 0,9
C 500 555600




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
= )05 log =-0,350,-U]?2
=(log +logC.)/2 logC,=-0,35u,-u ]2

IUg, ColUq, /U] Adaptation: A

Threshold
S+=0,0

+-31 -1,1 0,0 0,9

500 555600




logarithmic , U,-data  logUg = —0,35},~Uss7]
= (Co:lzh)2° logC, = —0,350,-u ]2
= (logCo+log - )/2 log - = —0,35[,~U.:]?
,Uo] Adaptation: A =

Threshold
S+=0,0

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
= )0:5 logC,=-0,350,-u ]2
= (logCo+log - )/2 log - = —0,35[,~U.:]?

log [C /Uy, /Uy, [Uy] Adaptation: Ao =

1t Threshold
S+=0,0

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




logarithmic U, Us-data  logUg = —0,35}u,~Uss7]

Ua=(Lo"Mo)*® logL o= ~0,350;~u:.]2

log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9

log [ Ug, Lo, Mo, Ug ] Adaptation: A =557
557570

Threshold
S4=0,025

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
Ua=(Lo"Mo)*® logLo = ~0,35k,~u:]2
log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9
log [Lo/Uo, Mo/Ug, U4Uy ] Adaptation: A =557
1t 557570 Threshold

S4=0,025
log S=-1.49

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




,Up-data logUy= —0,350,~Uss7]

)7 log1,= ~0,35(-u 1
+log )R2log =-0,35p,~-u 12
,Uo] Adaptation: Ay =

Threshold
S4=0,025

+-31 -1,1 0,0 0,9




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
=(Mo- )%® log/,=-0,35k,-u 13
=(logMo+log )2log = -0,350,~Us:]?2
/Ug, ©/Uy] Adaptation: A, =
Threshold
S+=0,025
log S=-1.49

+-31 -1,1 0,0 0,9




logarithmic ~, Uo-data  logUo = -0,35,~Uss7]
e 65 log =-0,350,-u..J2
=(log +logC.)/2 logC,=-0,35L,-u ]2
Uo] Adaptation: A =

Threshold
S=0,025

29 u

+-31 -1,1 0,0 0,9
C 500 555600




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
= )05 log =-0,350,-U]?2
=(log +logC.)/2 logC,=-0,35u,-u ]2

IUs, /U] Adaptation: A

Threshold
S4=0,025
log S=-1.49

+-31 -1,1 0,0 0,9

500 555600




logarithmic , U,-data  logUg = —0,35},~Uss7]
= (Co:lzh)2° logC, = —0,350,-u ]2
= (logCo+log - )/2 log - = —0,35[,~U.:]?
,Uo] Adaptation: A =

Threshold
S4=0,025

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




logarithmic Ug-saturation logUg = —0,35}u,~Uss7]
= ((Cor[:1y)%> logC,=-0,350,~u - ]2
log = (logC.+log - )/2 log - =-0,35[,~U.:]?
log [C /Uy, /Uy, [Uy] Adaptation: Ao =
1 _:-- Threshold

S4=0,025
log S=-1.49

+4-31 -1,1 00 0,9 2,9 u
( 500 555600 (




